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Занятие № 7 
Тема: Электрическая цепь
1. Запишите следующие слова в словарь:
[image: ]
2. Выпишите незнакомые слова в словарь и переведите текст, чтение и перевод текста запишите аудиофайлом.

[image: ]
 
3. Выполните письменно следующие упражнения:
А) дополните предложения, выбрав правильный ответ.
[image: ]
Б) Ответьте на вопросы:
[image: ]

В) решите задачи письменно:
[image: ]

 Ответы прислать до 06.10 https://vk.com/id92469994
[bookmark: _GoBack]
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3. Solve the following problems using the formulas of Ohm’s Law.

Model: — Current equals 5 amp; resistance equals 10 ohms. How much is
the voltage?

~ Voltage equals current times resistance. S x 10 =50 V

1) R=80ohms 2) R=10.25 ohms 3)V=50.05V
V=55V I=35amp I =120 amp
1=? V=2 R=?

4) 1=10,500 amp 5) V=20.05V 6)1=0.24 amp
V=2,000V R =0.015 ohm R =1.36 ohms
R=? I=? V=2

4. Pair work. Make up similar problems of your own. Ask your group-
mate to solve them.

1. a) Cover the right column and read the English words. Translate
them into Russian and check your translation.

b) Cover the left column and translate the Russian words back into
English.

circuit ['sazkit] uenb, KOHTYp

conductor [ken'dakta] NPOBONHHUK

function [fapkfn] HasHAYeHHe

difference ['difrans] pasHHua

open o6puiB

short KOPOTKOE 3aMBIKaHHe
trouble [trabl] MNOBpexeHue

no [nou] HHMKaKoH, HUCKOJIBKO

to reduce [ridjuzs] COKpaILaTh

to supply [sa'plai cHabxaTh

to connect [ko'nekt] CBA3LIBATH

to compare (with) [kem'pea] = cpasmmBats (c)

to pass through  [pa:s Oru] NMPOXOAHTH Yepe3

to result in TIPHBOOMTD K, MIMETb pe3ynbTaToM
to result from CHed0oBaTh, IPOMCTEKATh H3

2. Translate into Russian:

1. An open and a short are troubles in a circuit.
2. A trouble in a circuit results in no current in it.
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3. What does an open

1n a circuit result in?

4. What does a short in a circuit result in?
5. What does a trouble in a circuit result from?

_:l,;____
Fig.1

Electric Circuit

This is a circuit. Its elements are a voltage
source, a resistor and a conductor. The circuit
consists of a voltage source, a resistor and a
conductor. A voltage source supplies current. A
resistor reduces current. A conductor connects
the elements of the circuit.

Compare circuit @ with circuit . What is the
difference between them? Current passes
through circuit @ while no current passes
through circuit b. Circuit 5 has an open. No cur-
rent through circuit 5 results from an open. An
open and a short are troubles in a circuit. A
trouble in a circuit may result in no current in it.

3. Complete these sentences, using the correct variant:

1. Circuit a consists of

2. A voltage source

3. A conductor

4. A resistor

a) resistors and conductors.
b) avoltage source and resistors.
c) a voltage source, a resistor and a conductor.

a) conducts current.
b) reduces current.
c) supplies current.

a) connects the ‘elements.
b) supplies voltage.
c) conducts current.

a) connects the elements.
b) supplies current.
c) reduces current.

5. No current results from a) an open.

b) ashort.
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3. What does an open in a circuit result in?
4. What does a short in a circuit result in?
5. What does a trouble in a circuit result from?

R Electric Circuit

This is a circuit. Its elements are a voltage

source, a resistor and a conductor. The circuit

o consists of a voltage source, a resistor and a
conductor. A voltage source supplies current. A

a) resistor reduces current. A conductor connects
the elements of the circuit.

Compare circuit g with circuit 5. What is the
difference between them? Current passes
through circuit @ while no current passes
through circuit b. Circuit 4 has an open. No cur-
rent through circuit b results from an open. An
open and a short are troubles in a circuit. A
trouble in a circuit may result in no current in it.

Fig.1

3. Complete these sentences, using the correct variant:

1. Circuit a consists of a) resistors and conductors.
b) a voltage source and resistors.
c) a voltage source, a resistor and a conductor.

2. A voltage source a) conducts current.
b) reduces current.
c) supplies current.

3. A conductor a) connects the elements.
b) supplies voltage.
c) conducts current.

4. A resistor a) connects the elements.
b) supplies current.
c) reduces current.

5. No current results from a) an open.
b) ashort.
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. Answer the following questions:

What elements does a circuit consist of?
What is the function of a voltage source?
What is the function of a conductor?

‘What is the function of a resistor?

‘When is there no current in a circuit?

‘What does an open or a short result in?

‘What does no current in a circuit result from?

NOUAWN -~

. Solve these problems:

1. How much is the current in the circuit if a 60-volt source is connected
to a resistance of 1,600 ohms?

2. How much is the voltage in a circuit having a current equal to 25 amp,
if a 25-ohm resistance is connected to it?

3." A 70.35-ohm resistance is connected to the circuit. How much is the
voltage if the current equals 4.5 amp?

. Pair work. Ask your groupmate to compare circuits @ and b (see Fig. 1).

1. What do they have in common?

2. Which of the circuits has a trouble?
3. What does the trouble result from?
4. What does it resuit in?

. a) Cover the right column and read the English words. Translate
them into Russian and check your translation.

b) Cover the left column and translate the Russian words back into
English.

branch [bra:ntf] - omson

line JHHUA

value [valju] BeNTHYMHA

voltage drop TafieHHe HaTPAXKEHH
series [sveri:z] TIOCTIEN0BATENBHOE
parallel [paeralal] napamensHoe

main [mein] TNaBHEIY, OCHOBHOH
to use (juz] HCTIONB30BaTh

in order (to) IS TOrO YTOGBI
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4. Answer the following questions:

NoOUnhWL~

What elements does a circuit consist of?
What is the function of a voltage source?
What is the function of a conductor?

What is the function of a resistor?

When is there no current in a circuit?
What does an open or a short result in?
What does no current in a circuit result from?

Solve these problems:

1.

2.

3.

How much is the current in the circuit if a 60-volt source is connected
to a resistance of 1,600 ohms?

How much is the voltage in a circuit having a current equal to 25 amp,

if a 25-ohm resistance is connected to it?

A 70.35-ohm resistance is connected to the circuit. How much is the

voltage if the current equals 4.5 amp?

Pair work. Ask your groupmate to compare circuits 2 and b (see Fig. 1).

N~

What do they have in common?
Which of the circuits has a trouble?
What does the trouble result from?

What does it result in?

1. a) Cover the right column and read the English words. Translate

them into Russian and check your translation.

b) Cover the left column and translate the Russian words back into

English.
branch [bra:ntf]
line
value [valju]
voltage drop
series ['steriz]
parallel [peralal]
main [mein]
to use ju:z]

in order (to)
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OTBOA

JIMHUA

BeJIMMHHA

niaJieHHe HanpsXKeHUs
TOCNIEAOBATENILHOE
fapasensHoe
TNaBHBIH, OCHOBHOM
HCTIONB30BATh

IUIA TOTO YTOOBI




